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Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
7 x 10000 = 9, 865 x 1000000 =
2,783 x 10 = 3,591 x 10 =
7,706 x 1000000 = 7,252 x 10 =
8,29 x 1000000 = 2,102 x 100000 =
4,356 x 1000000 = 1, 595 x 1000000 =
6, 966 x 1000000 = 9,969 x 1000000 =
3,326 x 10000 = 10, 86 x 10000 =
1,627 x 10 = 1, 873 x 10000 =
6,224 x 1000 = 5,344 x 10000 =
2,434 x 10000 = 5,942 x 10000 =
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Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
7 x10000 = 70000 9, 865 x 1000000 = 9865000
2,783 x 10 =27.83 3,591 x 10 =35.91
7,706 x 1000000 = 7706000 7,252 x 10 ="72.52
8,29 x 1000000 = 8290000 2,102 x 100000 = 210200
4,356 x 1000000 = 4356000 1, 595 x 1000000 = 1595000
6, 966 x 1000000 = 6966000 9, 969 x 1000000 = 9969000
3,326 x 10000 = 33260 10, 86 x 10000 = 108600
1,627 x 10 =16.27 1, 873 x 10000 = 18730
6,224 x 1000 = 6224 5, 344 x 10000 = 53440
2,434 x 10000 = 24340 5,942 x 10000 = 59420
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